

New Newton's Method with Third-order Convergence for Solving Nonlinear Equations

Osama Yusuf Ababneh

Abstract—For the last years, the variants of the Newton's method with cubic convergence have become popular iterative methods to find approximate solutions to the roots of non-linear equations. These methods both enjoy cubic convergence at simple roots and do not require the evaluation of second order derivatives. In this paper, we present a new Newton's method based on contra harmonic mean with cubically convergent. Numerical examples show that the new method can compete with the classical Newton's method.

Keywords—Third-order convergence, Non-linear equations, Root-finding, Iterative method.

I. INTRODUCTION

SOLVING non-linear equations is one of the most important problems in numerical analysis. In this paper, we consider iterative methods to find a simple root of a non-linear equation $f(x) = 0$, where $f : D \subset \mathbf{R} \rightarrow \mathbf{R}$ for an open interval D is a scalar function. The classical Newton method for a single non-linear equation is written as

$$x_{n+1} = x_n - \frac{f(x_n)}{f'(x_n)}. \quad (1)$$

This is an important and basic method [8], which converges quadratically. Recently, some modified Newton methods with cubic convergence have been developed in [1], [2], [3], [4], [5], [6] and [7]. Here, we will obtain a new modification of Newton's method. Analysis of convergence shows the new method is cubically convergent. Its practical utility is demonstrated by numerical examples.

Let α be a simple zero of a sufficiently differentiable function f and consider the numerical solution of the equation $f(x) = 0$. It is clear that

$$f(x) = f(x_n) + \int_{x_n}^x f'(t)dt. \quad (2)$$

Suppose we interpolate f' on the interval $[x_n, x]$ by the constant $f'(x_n)$, then $(x - x_n)f'(x_n)$ provides an approximation for the indefinite integral in (2) and by taking $x = \alpha$ we obtain

$$0 \approx f(x_n) + (\alpha - x_n)f'(x_n).$$

Thus, a new approximation x_{n+1} to α is given by

$$x_{n+1} = x_n - \frac{f(x_n)}{f'(x_n)}.$$

Dr. Osama Yusuf Ababneh is with the Department of Mathematics, Irbid National University, Irbid, Jordan e-mail: (ababnehukm@yahoo.com).

On the other hand, if we approximate the indefinite integral in (2) by the trapezoidal rule and take $x = \alpha$, we obtain

$$0 \approx f(x_n) + \frac{1}{2}(\alpha - x_n)(f'(x_n) + f'(\alpha)),$$

and therefore, a new approximation x_{n+1} to α is given by

$$x_{n+1} = x_n - \frac{2f(x_n)}{f'(x_n) + f'(x_{n+1})}.$$

If the Newton's method is used on the right-hand side of the above equation to overcome the implicit problem, then

$$x_{n+1} = x_n - \frac{2f(x_n)}{f'(x_n) + f'(z_{n+1})}, \quad (3)$$

where

$$z_{n+1} = x_n - \frac{f(x_n)}{f'(x_n)}$$

is obtained which is, for $n = 0, 1, 2, \dots$, the trapezoidal Newton's method of Fernando et al. [1]. Let us rewrite equation (3) as

$$x_{n+1} = x_n - \frac{f(x_n)}{(f'(x_n) + f'(z_{n+1}))/2}, \quad n = 0, 1, \dots \quad (4)$$

So, this variant of Newton's method can be viewed as obtained by using arithmetic mean of $f'(x_n)$ and $f'(z_{n+1})$ instead of $f'(x_n)$ in Newton's method defined by (1). Therefore, we call it arithmetic mean Newton's (AN) method.

In [3], the harmonic mean instead of the arithmetic mean is used to get a new formula

$$x_{n+1} = x_n - \frac{f(x_n)(f'(x_n) + f'(z_{n+1}))}{2f'(x_n)f'(z_{n+1})}, \quad n = 0, 1, \dots \quad (5)$$

which is called *harmonic mean Newton's (HN) method* and used the midpoint to get

$$x_{n+1} = x_n - \frac{f(x_n)}{f'((x_n + z_{n+1})/2)}, \quad n = 0, 1, \dots \quad (6)$$

which is called *midpoint Newton's (MN) method*.

II. NEW ITERATIVE METHOD AND CONVERGENCE ANALYSIS

If we use the contra harmonic mean instead of the arithmetic mean in (4), we get new Newton method

$$x_{n+1} = x_n - \frac{f(x_n)(f'(x_n) + f'(z_{n+1}))}{f'^2(x_n) + f'^2(z_{n+1})}, \quad n = 0, 1, \dots \quad (7)$$

where

$$z_{n+1} = x_n - \frac{f(x_n)}{f'(x_n)}, n = 0, 1, \dots \quad (8)$$

we call *contra harmonic Newton's (CHN) method*.

Theorem 2.1: Let $\alpha \in D$ be a simple zero of a sufficiently differentiable function $f : D \subset \mathbf{R} \rightarrow \mathbf{R}$ for an open interval D . If x_0 is sufficiently close to α , then the methods defined by (7) converge cubically.

Proof Let α be a simple zero of f . Since f is sufficiently differentiable, by expanding $f(x_n)$ and $f'(x_n)$ about α we get

$$f(x_n) = f'(\alpha) [e_n + c_2 e_n^2 + c_3 e_n^3 + \dots], \quad (9)$$

and

$$f'(x_n) = f'(\alpha) [1 + 2c_2 e_n + 3c_3 e_n^2 + 4c_4 e_n^3 + \dots], \quad (10)$$

where $c_k = (1/k!)f^{(k)}(\alpha)/f'(\alpha), k = 2, 3, \dots$ and $e_n = x_n - \alpha$. Direct division gives us

$$\frac{f(x_n)}{f'(x_n)} = e_n - c_2 e_n^2 + 2(c_2^2 - c_3) e_n^3 + O(e_n^4),$$

and hence, for z_{n+1} given in (8) we have

$$z_{n+1} = \alpha + c_2 e_n^2 + 2(c_3 - c_2^2) e_n^3 + O(e_n^4). \quad (11)$$

Again expanding $f'(z_{n+1})$ about α and using (11) we obtain

$$\begin{aligned} f'(z_{n+1}) &= f'(\alpha) + (z_{n+1} - \alpha)f''(\alpha) \\ &\quad + \frac{(z_{n+1} - \alpha)^2}{2!} f'''(\alpha) + \dots \\ &= f'(\alpha) + [c_2 e_n^2 + 2(c_3 - c_2^2) e_n^3 + O(e_n^4)] f''(\alpha) \\ &\quad + O(e_n^4) \\ &= f'(\alpha) [1 + 2c_2^2 e_n^2 + 4(c_2 c_3 - c_2^3) e_n^3 + O(e_n^4)]. \end{aligned} \quad (12)$$

By using (10) we obtain

$$f'^2(x_n) = f'^2(\alpha)$$

$$[1 + 4c_2 e_n + (4c_2^2 + 6c_3) e^2 + (12c_2 c_3 + 8c_4) e^3 + \dots].$$

From (12), we get

$$f'^2(z_{n+1}) = f'^2(\alpha) [1 + 4c_2^2 e_n^2 + (8c_2 c_3 - 8c_2^3) e^3 + \dots],$$

and

$$\begin{aligned} f'^2(x_n) + f'^2(z_{n+1}) &= 2f'^2(\alpha) [1 + 2c_2 e_n + (4c_2^2 + 3c_3) e_n^2 \\ &\quad + (4c_4 + 10c_2 c_3 - 4c_2^3) e_n^3 + \dots]. \end{aligned}$$

From (10) and (12) we get

$$\begin{aligned} f'(x_n) + f'(z_{n+1}) &= 2f'(\alpha) [1 + c_2 e_n + \left(c_2^2 + \frac{3}{2}c_3\right) e_n^2 \\ &\quad + 2(c_2 c_3 - c_2^3 + c_4) e_n^3 + O(e_n^4)], \end{aligned}$$

and using (9) to get

$$f(x_n) (f'(x_n) + f'(z_{n+1})) =$$

$$2f'^2(\alpha) [e_n + 2c_2 e_n^2 + \left(2c_2^2 + \frac{5}{2}c_3\right) e_n^3 + O(e_n^4)].$$

Hence,

$$\frac{f(x_n) (f'(x_n) + f'(z_{n+1}))}{f'^2(x_n) + f'^2(z_{n+1})} = e_n - \left(2c_2^2 + \frac{1}{2}c_3\right) e_n^3 + O(e_n^4),$$

$$x_{n+1} = x_n - \frac{f(x_n) (f'(x_n) + f'(z_{n+1}))}{f'^2(x_n) + f'^2(z_{n+1})},$$

$$x_{n+1} = x_n - \left(e_n - \left(2c_2^2 + \frac{1}{2}c_3\right) e_n^3 + O(e_n^4)\right),$$

or subtracting α from both sides of this equation we get

$$e_{n+1} = \left(2c_2^2 + \frac{1}{2}c_3\right) e_n^3 + O(e_n^4),$$

which shows that contra harmonic Newton's method is of third order.

III. NUMERICAL RESULTS AND CONCLUSIONS

In this section, we present the results of some numerical tests to compare the efficiencies of the new method (CHN). We employed (CN) method, (AN) method of Fernando et al.[1], and (HN) and (MN) methods in [3]. Numerical computations reported here have been carried out in a MATHEMATICA environment. The stopping criterion has been taken as $|x_{n+1} - x_n| < \varepsilon$, We used the fixed stopping criterion $\varepsilon = 10^{-14}$ and the following test functions have been used.

$$\begin{aligned} f_1(x) &= x^3 + 4x^2 - 10, & \alpha &= 1.365230013414097, \\ f_2(x) &= x^2 - e^x - 3x + 2, & \alpha &= 0.2575302854398608, \\ f_3(x) &= \text{Sin}x^2 - x^2 + 1, & \alpha &= 1.404491648215341, \\ f_4(x) &= \text{Cos}x - x, & \alpha &= 0.7390851332151607, \\ f_5(x) &= (x - 1)^3 - 1, & \alpha &= 2. \end{aligned}$$

In Table 1 and Table 2, we give the number of iterations (N) and total number of function evaluations (TNFE) required to satisfy the stopping criterion. As far as the numerical results are considered, for most of the cases HN and MN methods requires the least number of function evaluations.

All numerical results are in accordance with the theory and the basic advantage of the variants of Newton's method based on means or integration methods that they do not require the computation of second- or higher-order derivatives although they are of third order.

REFERENCES

- [1] S.Weerakoon, T.G.I. Fernando, A variant of Newtons method with accelerated third-order convergence, Appl. Math. Lett. 13 (2000) 87-93.
- [2] M. Frontini, E. Sormani, Some variants of Newtons method with third-order convergence, Appl. Math. Comput. 140 (2003) 419-426.
- [3] A.Y. özban, Some new variants of Newtons method, Appl. Math. Lett. 17 (2004) 677-682.
- [4] M. Frontini, E. Sormani, Modified Newtons method with third-order convergence and multiple roots, J. Comput. Appl. Math. 156 (2003) 345-354.

TABLE I
ITERATION NUMBER (N)

$f(x)$	N				
	CN	AN	HN	MN	CHN
$f_1, x_0 = 1$	6	4	4	4	5
$f_2, x_0 = 1$	5	4	4	4	4
$f_2, x_0 = 2$	6	5	5	4	5
$f_2, x_0 = 3$	7	5	5	5	5
$f_3, x_0 = 1$	7	5	4	5	5
$f_3, x_0 = 3$	7	5	4	4	5
$f_4, x_0 = 1$	5	3	4	4	4
$f_4, x_0 = 1.7$	5	4	4	4	4
$f_4, x_0 = -0.3$	6	4	5	5	5
$f_5, x_0 = 3$	7	5	5	5	5

TABLE II
THE TOTAL NUMBER OF FUNCTION EVALUATIONS (TNFE)

$f(x)$	TNEF				
	CN	AN	HN	MN	CHN
$f_1, x_0 = 1$	12	12	12	12	15
$f_2, x_0 = 1$	10	12	12	12	12
$f_2, x_0 = 2$	12	15	15	15	15
$f_2, x_0 = 3$	14	15	15	15	15
$f_3, x_0 = 1$	14	15	12	15	15
$f_3, x_0 = 3$	14	15	12	12	15
$f_4, x_0 = 1$	10	9	12	12	12
$f_4, x_0 = 1.7$	10	12	12	12	12
$f_4, x_0 = -0.3$	12	12	15	15	15
$f_5, x_0 = 3$	14	15	15	15	15

- [5] Changbum Chun, A two-parameter third-order family of methods for solving nonlinear equations, Applied Mathematics and Computation 189 (2007) 1822-1827.
- [6] Kou Jishenga, LiYitianb, Wang Xiuhuac, Third-order modification of Newtons method, Journal of Computational and Applied Mathematics 205 (2007) 1-5.
- [7] Mamta, V. Kanwar, V.K. Kukreja, Sukhjit Singh, On some third-order iterative methods for solving nonlinear equations, Applied Mathematics and Computation 171 (2005) 272-280.
- [8] A.M. Ostrowski, Solution of Equations in Euclidean and Banach Space, third ed., Academic Press, NewYork, 1973.